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Kindertransport Reading Comprehension Answers
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Maths Answers Year 5- Measure Perimeter
[image: ]
[image: ]

Maths Answers Year 6- Shapes Same Area
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1. England
2. Holland

3. Her Tanakh (Hebrew bible)

4. Awooden dog on a pull-along string

5. Her handwriting will improve

I: Her brother
P Jewish. She has a Tanakh and is fleeing persecution. She refers to Kosher food
V: He's not about to give in or surrender. He's prepared to be at war for a long time

1: It was a sign of kindness in a scary time
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Expected
5a. 15cm

6a.A=9cm, B=12cm

7a. Shape B: A = 10cm, B = 12cm

8a. False. The perimeter of the shape is
10cm.

Expected

5b. 14cm

6b. A =14cm,
7b. Shape B: A= 9cm, B = 12cm
8b. True
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Expected

4a. Trve. Both Shape A and Shape B = 18cm.
5a The perimeter is 18cm, not 16cm. She has
missed the side that equals 2cm.
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4b. False. Shape A = 12¢m and Shape B = 14cm.
b. The perimeter is 22cm, not 19cm. He has
missed one of the sides that equals scm.
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Expected
5a.A,Band C

6a. Any rectilinear shape with an area of
18cm2.

7a. Any combination of 3 rectangles with a

combined area of 24cm? and where at least

one side includes a half measurement. For
example: 1.5cm x 16cm.
8a. A. 72cm; B. 3cm; C. 9cm

Expected
5b. Aand B
6b. Any rectilinear shape with an area of
24cm2.

7b. Any combination of 3 rectangles with
a combined area of 20cm? and where at
least one conversion takes place. For
example: 3cm x 20mm; 2cm x 15mm;
22cm x Smm.

8b. A. Tecm;

. 8cm; C. 64cm
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5a. False. Shape A and C have an area of
12cm?, but shape B has an area of 18cm?.
6a. Yes, she is cormrect. A shape with a
length of 38cm and a width of 0.5cm would
have an area of 19cm2.

5b. True. All the shapes have an area of
24cm2.

6b. Yes, he is correct. A rectilinear shape
with a length of 8.5cm and width of 3cm, for
one part and 1.5cm by 5cm for the second
part, would have an area of 33cm2.




